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1.
(1) = (2a +2b)

) p =(39.0 X 0.930+41.0 x 0.0700+35.0 x 0.760 +37.0 X

0.240) x 4/(6.02 x 102 x 250 x 1072%

=1.983
=20gcem™

(3) 440 + 90 + 420 + 240/2 — 350 = 720
X > T =720 kJ mol™!
BRIV = N—NN—HA1 ZIILLTFDOED

K+(g) + Cl(g) + e
350 kJ mol-!

120 kJ mol-" K+g)+ClHg)

| K+(g) + 1/2Cl2(g) + e~
420 kJ mol-

L K(g) + 1/2Cl2(g)

\ 720 kJ mol-
90 kJ mol-!

+  K(s) + 1/2Clz(q)
440 kJ mol-

| KCl(s) 1
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(2) A: (c)
B: (d)

(3) .9 =1 — exp(—k?)

)

0.100 =1 —exp(-k x 20)
0.900 = 1 — exp(—kt)

BIHLT

exp(—20k) = 0.9

exp(—tk) = 0.1

Wiz nzss &
—20k=1n0.9 = In9 — In10
—tk=1n0.1 =Inl — In10 = —-In10
FoT

t=20 x (In10)/(In10 — In9)
=46 x 10* &
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v
WE (1) cosx & sinx O=2a—) BT
x? x* xS ) x* x5 X7
cosx=1—5+ﬂ—a+---, smx=x—3—!+§—ﬁ+v-—

ThoHhb, ef=1+ ﬁ+"2—7+"3—:+-~ ERWT

ix _ ; (ix)? | (ix)?
e =1t TEFTE
2z i 2 _ 5
—(1-—;+---)+l(x—-§+---)-l:osx+lslnx

LB,

(2) @ g R {cos[—%)+isin(—%}}=—i £2T a;=0b=—et — (&)

e
FAA F—OBRALY a™ = e(_l_%)m =e™™ (cos (%) — isin (%)) ThHHND
@ m=2DtE aq?=e2(cosmt—isinm)=—e"2 LoTa,= —e2,b, =0 -— (&)
@ m=z3nLE, at=e™m (cos(?)—isin(%)) ZRAWT
m=4l+3(1=01.)D¢tZE, cos(?) =0, sin (?) =-1XVYa,=0b,=e™
m=4l(l=12,.) )DL %, cos(?) =1, sin(mf-) =0 XVa,=e™b,=0.
m=4l+10=12.)0t%, cos(") =0, sin(") =1 kY ay=0by=—e™
m=4l+2(1=12.)0L%, cos(Z)=-1, sin(%5) =0 L Vay =~ by = 0.
- (&)
¥ oa™m= e('l"i?n)’" =e M(-)Mrb, m=2l1=12,.)DtZTa, = (—1)%e‘m,bm =0,

m
m =241 = 1,2, )0 Ea, =0,bp = (F1)'7F €™, ELTHEW,

@ L e sindrdr  (n 3% BT

2mi-x

n#+4d THHLE _l_r e ™ sin4x abc:LJ”r sin4x(cosnx —isinnx) dx =0
2 2=

fdx _ -idx #
n=+4 ThHLX lj' gty o PPl T o b (l—e'm’)dx=l.
2md-n 2md-x 2i 4= 2i

eMz _ e-i4z 1 P 1

n=-4 THHLX lj”e“*smxdx:lj”e“*——, dv=—[" (™ ~1)dr=——
27 2z d-n 2i Agi = 2i
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do do

=M= sing =3, ¥ 9=%'€’ (x,y}:{[f-ﬁ} l}

dy

oiHE — :

B o7 dx/d@ 1-cos@
3

dx

J:OTJ%ﬁiiy—%:ﬁ(x— %—?)) Tibb y=v§x+2-—%—-(%§)

(2) @itA=["ydr|eoT, y=(1-cosd) DREMS, =0k & dv=(1-cos6)do

y =I:”(1 - cos6) d6 = J:”[l ~2cosd + %(l + coszg))dt‘)

3 i M T
= 56—25m9+zsm29 =37 (&)

0

(3) Rl SN EHE oLy LTHETL

x(0,y)=0-sin8, y(6,y)=(1-cosb)cosy, z(0,y)=(1-cosd)siny

ERBDT, B UL, xy,z FEOERSS b Vi j kEANT

v =§—;i+%j+%k =(1-cos@)i +sinfcosyj+sinBsin yk
dx, oy, Oz

7, =§l +a—?’j+é;k=—(1—cos&)sinyj+(1—cosé’)cosyk
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24
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(O)=—Ax() I x(t)=Py(t) Z(RA L TR 35 &

y(1) = —(PAP)y(1)

00 0 0 a, +bt
0200 e T ‘ a, cos(ﬁr)-l—b, siu(ﬁr)
yO RS E, yO=| -
00 20 a, cos(x/‘._’r)+b3 sin(v/27)
00 0 4 | a, cos(21) + b, sin(2¢)
3.4 ) HIERL
2 0 0
d -2 . 0 d d 0
—Xx(0)= X0 y0)=P'x(0)= , —1(0)=—P'x(0)=
r\(} 5 »(0) x(0) " dr.‘() = x(0) 0
-2 0 4
0 sin(2r)
0 . —sin(2r)
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